5. Seat legs

Attach two seat legs to each seat as shown using 2 x 90mm bolt per leg. Secure each bolt using a 8mm washer in
8mm Tnut. Position a leg brace between each set of legs. Secure through the pre- drilled holes in the legs into the
ends of the brace using 4 x 5*70mm screws per brace. Secure the brace to the frames using 2 x 4*60mm screws per

brace. , Round Picnic BenCh

Assembly Instructions

Important Note:

Only hand tighten the Before assemblz

nuts until alf bolts are in

place, then tighten with e We recommend that time is taken to
a socketfspanner. read the instructions before starting
assembly, then follow the easy step by
step guide. The instruction sheet is only
a guide to the assembly. Certain items
may not be shown to scale.

@ Check all components prior to assembly

e This product should be assembled
by no less than two people

o Drili all components where indicated

-

Recommended tools for assemb
e Socket set or spanner

= |0mm Socket/spanner

+ | 3mm Socket/spanner
e Power drill/screwdriver

» Cross head screwdriver bit

6. Tighten all bolts

No. Components Qty.
! | Table top !
2 |Frame A 2
3 | Frame B 2
4 | Seat 4
5 | Table legs 4
6 | Seat legs 8
Safety information 7 | Leg brace 4
IMPORTANT; RETAIN FOR FUTURE REFERENCE: READ CAREFULLY No| _ Fixnglit [ Qo
o . M8 Tnuts already fixed 40
Periodically check all fastenings for tightness 8 | 120mm (M8) bolt 8
For contract use 9 | 90mm (M8) bolt 16
10 | 80mm (M8) bolt 8
If in doubt of any aspect regarding the assembly, use or safety of your Picnic Bench please contact us : {1 | 110mm (M8) bolt 8
12 {8mm washer 40
I3 | 70mm (M5) screws 16

14| 60mm (M4) screws 8




I1. Frame assembly
Position the frames as shown.

3. Table top supports

Slide the frame into each of the legs. Align the holes on the frames with the holes in the legs and secure using 2

x | {0mm bolts per support. Push a bolt through each hole, and secure with an 8mm washer and an 8mm Tnut. Only
hand tighten the nuts at this stage.

important Note:

Only hand tighten the
nuts until all bolts are in
place, then tighten with

a socket/spanner.

With the assembly stiil upside down, attach the four seats. Insert the middle seat bearer between the frames as shown.
Align the holes and secure using 2 x 120mm bolts per seat, secure each bolt with an 8mm washer and 8mm Tnut.

2. Table tOp legs Important Note:

Lay the table top upside down on a soft surface to avoid scratching the top. Place the legs and position centrally onto ) Only hand tigften the
the table top. Secure the table supports to the table using 2 x M8 80mm bolts per leg. Secure each bolt with an 8mm y/

place, then tighten with
washer in and 8mm Tnut. a socket/spanner.

Important Note:

Only hand tighten the
nuts until afl bolts are in
place, then tighten with

a socket/spanner.




